SHINOHARA

(FRI—

~NO310)

(5 mmsvhs(7:SCR

ERZ020/c#H—L.&EF20mm-40mm-60mmaD3fEHFZH A EL 7.

AT AN—DEBVTHFICRETY .

B = H (mm) 1B (1) AR (18)
SC-20-5 20 "
SC-40-5 40 1= 50 50
SC-60-5 60 1% 500
(BR{HEI)
RS
Bt
2 B H(mm)| A (@) | ot (mm) [DxE (mm)=L| 1528 (8) | st ()
SB-20-4 20 | 20 [M4x 55| M4x11
*SB-20-4-L5 | 20 | 20 |M4Xx 55| M4x 5
SB-20-5 20 | 20 |[M5x 55| M5x11
GED*SB-20-5-L5| 20 | 20 |M5X% 55| M5X 5
*SB-20-6-L5| 20 | 20 |M6X 55| M6X 5
SB-20 20 | 20 |[M6X 55| M6X13
SMB-20-4 | 20 | 15 |M4X 55| M4x13
@ED*SMB-20-4-L5| 20 | 15 [M4x 55| M4x 5 [1% 50 50
SMB-20-5 | 20 | 15 |M5x 55| M5x13 |18 500
SB-24 24 | 20 |[M6X 55| M6X11
SB-24-5 24 | 20 |M5x 55| M5x11
GED*SB-24-5-L5| 24 | 20 |M5X% 55| M5X 5
SB-25 25 | 25 [Méx 8 | M6X12
SB-25-5 25 | 25 |[M5%X 85| M5%10
*SB-25-l6 | 25 | 25 |M6X 8 | MéX 6
TB-30 30 | 30 |M8X10 | M8x20
TB-30-6 30 | 30 |[MéX 8 | M6X13
TB-30-L13 | 30 | 30 |[M8%X10 | M8x%13
TB-35 35 | 35 [M8X10 | M8x%20 |1#& 25
TB35-6 | 35 | 35 |Mox11 | Mex13 |15 300| 2°
SBE DB *TB-35-L8 | 35 | 35 |M8%X10 | M8x 8
TB®! (DB-45) DB-40 40 | 40 [M8x11 | M8x20
DB® (DB-50) SMBE! *DB-40-L8 | 40 | 40 [M8x11 | Mm8x 8
(DB-40) (DB-50-L8) DB-45 45 | 40 [MBx11 | M8x19 |
(DB-40-L8) DB-50 50 | 40 |M8x11 | M8x20 ];g 2%8 25
A A *DB-50-L8 | 50 | 40 [M8%11 M8X 8
A % [* DB BB OIGERENTEETT .
(BHRMER A7) UL94 V-ODsEkiEaE T BB AREAEL TOET,
RO 8 Himm)| A (@) [Cegmes(nm [DxEe (mm) =] e (@) et @
TER<IEEL) ans SB-15-4-UB | 15 | 20 |M4x 4.5] M4x10
= SB-15-5-UB| 15 | 20 |M5x 55| M5x10 |
[ SB-20-UB | 20 | 20 [mex 55| mex13 ]g 588 50
SB-25-UB | 25 | 25 |[M6X 8 | M6X12
o _ 5 4 o T CEDSB-25-UB-L6| 25 | 25 |[Méx 8 | Méx 6
TB-30-UB | 30 | 30 [M8x10 | M8X20 |1& 25| o
TB-35-UB | 35 | 35 |[M8x11 | M8x20 |1# 300
%SB-25-UB-L6I3 BN TTET T
/N - BUESEENLS TR TEE, HZOWEDHBEHR OO FERETTBEADHIET. BN 2 EIFG-01 45T RBFES, B-06

BABHOIERIETEELEADT.OEBLILEEL,

KAV FYMBIFIRIBICE R L/ BRERND OE =M O XA —MAEBME ERTY.





